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Learning Characteristics
Some of the important characteristics of learning are as given below:

1. Learning is Unitary: It implies that the learner reacts as a whole persons to the whole situation in a unified
way. It means that the learner responds intellectually. emotionally. physically and spiritually at the same time.
This attitude helps in the achievement of educational goals.

Development of skills: A skill is a learned activity that one develops through practice and reflection. It is the
ability to perform a learned activity well and at will. Skill. as an ability to perform something. includes
proficiency, competence. and expertise in the activity. Skill refers to learning psycho-motor behaviours
required in the activities such as driving a car or swinging a tennis racket. The development of skills entails the
following stages:

a. Cognitive Stage: Achieved through declarative knowledge

b. Associative Stage: Combining individual steps into larger units

c. Automated Stage: Where the whole procedure can be accomplished without much attention. In the last
stage. the brain process shifts from reflective to reflexive.

Development of Attitudes: Attitude is mental state held by an individual which affects the way that person
responds to events and organizes responses. Attitudes are commonly held to have three essential components
or dimensions:

1. A Cognitive Dimension: Beliefs and rationalizations which explains the holding of the attitudes

ii. An Affective Dimension: Emotional aspects of attitudes. such as likes. dislikes. feeling of distaste. and

111. A Conative or Behavioural Dimension which involves the extent to which the individual are prepared to
act on the attitude that they hold.

2. Learning may be planned or unplanned

3. Learning can be active as well as passive

4. Learning is usually individual. but it can also be collectively generated in groups

§. Learning is treated both as a process and as an outcome learning is life long process

6. Learning may be incremental-it may add cumulatively to the prior learning or transformation
7. Learning can be stimulated or triggered by any experience. failure. success. and anything else.

Sub questions

Question Number : 1 Question Id : 68634018535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The synonyms of 'unitary' are:

A. Plenary

B. Unabridged
C. Deficient
D. Outright

Choose the correct option:
1.Aand D
2.A.BandC
3.A.BandD
4. AandD

Options :
68634073201. 1
68634073202. 2

68634073203. 3
68634073204. 4

Question Number : 2 Question Id : 68634018536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Read the statements carefully and answer.

Statement I: Unitary learning refers to the reaction of the whole person to the whole situation who facilitates
learning.

Statement II: Skill refers to learning psycho-motor behaviours in different activities.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true
Options :
68634073205. 1
68634073206. 2

68634073207. 3
68634073208. 4

Question Number : 3 Question Id : 68634018537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a dimension of attitude?
1. Beliefs and rationalization
2. Emotional aspects
3. Conative dimension
4. Active and passive dimension

Options :

68634073209. 1
68634073210. 2
68634073211.3
68634073212. 4

Question Number : 4 Question Id : 68634018538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If analysis: dissection. then synthesis: ?

A. disintegration
B. integration

C. coalescence
D. differentiation

Choose the appropriate answer:

1.Aand C
2.Aand D
3.Band C
4.CandD

Options :

68634073213. 1

68634073214. 2

68634073215.3
68634073216. 4

Question Number : 5 Question Id : 68634018539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the true about learning?

A. It is active as well as passive.

B. Learning is always individual in nature.

C. It can be added cumulatively to the prior learning.
D. It can be stimulated by only negative experiences.

Choose the correct answer from the options given below:
1.Aand B
2.AandC
3.BandC
4. A.BandD

Options :

68634073217. 1
68634073218. 2
68634073219. 3
68634073220. 4

Question Id : 68634018534 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



Learning Characteristics
Some of the important characteristics of learning are as given below:

1. Learning is Unitary: It implies that the learner reacts as a whole persons to the whole situation in a unified
way. It means that the learner responds intellectually. emotionally. physically and spiritually at the same time.
This attitude helps in the achievement of educational goals.

Development of skills: A skill is a learned activity that one develops through practice and reflection. It is the
ability to perform a learned activity well and at will. Skill. as an ability to perform something. includes
proficiency, competence. and expertise in the activity. Skill refers to learning psycho-motor behaviours
required in the activities such as driving a car or swinging a tennis racket. The development of skills entails the
following stages:

a. Cognitive Stage: Achieved through declarative knowledge

b. Associative Stage: Combining individual steps into larger units

c. Automated Stage: Where the whole procedure can be accomplished without much attention. In the last
stage. the brain process shifts from reflective to reflexive.

Development of Attitudes: Attitude is mental state held by an individual which affects the way that person
responds to events and organizes responses. Attitudes are commonly held to have three essential components
or dimensions:

1. A Cognitive Dimension: Beliefs and rationalizations which explains the holding of the attitudes

ii. An Affective Dimension: Emotional aspects of attitudes. such as likes. dislikes. feeling of distaste. and

111. A Conative or Behavioural Dimension which involves the extent to which the individual are prepared to
act on the attitude that they hold.

2. Learning may be planned or unplanned

3. Learning can be active as well as passive

4. Learning is usually individual. but it can also be collectively generated in groups

§. Learning is treated both as a process and as an outcome learning is life long process

6. Learning may be incremental-it may add cumulatively to the prior learning or transformation
7. Learning can be stimulated or triggered by any experience. failure. success. and anything else.

Sub questions

Question Number : 1 Question Id : 68634018535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The synonyms of 'unitary' are:

A. Plenary

B. Unabridged
C. Deficient
D. Outright

Choose the correct option:
1.Aand D
2.A.BandC
3.A.BandD
4. AandD

Options :
68634073201. 1
68634073202. 2

68634073203. 3
68634073204. 4

Question Number : 2 Question Id : 68634018536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Read the statements carefully and answer.

Statement I: Unitary learning refers to the reaction of the whole person to the whole situation who facilitates
learning.

Statement II: Skill refers to learning psycho-motor behaviours in different activities.
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4. Statement I is false but Statement II is true
Options :
68634073205. 1
68634073206. 2

68634073207. 3
68634073208. 4

Question Number : 3 Question Id : 68634018537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not a dimension of attitude?
1. Beliefs and rationalization
2. Emotional aspects
3. Conative dimension
4. Active and passive dimension

Options :

68634073209. 1
68634073210. 2
68634073211.3
68634073212. 4

Question Number : 4 Question Id : 68634018538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If analysis: dissection. then synthesis: ?

A. disintegration
B. integration

C. coalescence
D. differentiation

Choose the appropriate answer:

1.Aand C
2.Aand D
3.Band C
4.CandD

Options :

68634073213. 1

68634073214. 2

68634073215.3
68634073216. 4

Question Number : 5 Question Id : 68634018539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the true about learning?

A. It is active as well as passive.

B. Learning is always individual in nature.

C. It can be added cumulatively to the prior learning.
D. It can be stimulated by only negative experiences.

Choose the correct answer from the options given below:

1.Aand B
2.AandC
3.BandC
4. A.BandD

Options :

68634073217. 1

68634073218. 2

68634073219.3
68634073220. 4

Sub-Section Number : 2
Sub-Section Id : 686340615
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634018540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the appropriate meaning of the foreign word: ultra vires

1. Beyond one's authority
2. Super virus
3. Excellent
4. Under consideration

Options :

68634073221. 1

68634073222.2

68634073223.3
68634073224. 4

Question Number : 6 Question Id : 68634018540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the appropriate meaning of the foreign word: ultra vires

1. Beyond one's authority
2. Super virus
3. Excellent
4. Under consideration

Options :

68634073221. 1

68634073222. 2

68634073223. 3
68634073224. 4

Question Number : 7 Question Id : 68634018541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Synonym of the word 'Aversion' is:
1. Dislike
2. Audacious
3. Desolate
4. Alleviate
Options :
68634073225. 1
68634073226. 2

68634073227. 3
68634073228. 4

Question Number : 7 Question Id : 68634018541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Synonym of the word 'Aversion' is:
1. Dislike
2. Audacious
3. Desolate
4. Alleviate
Options :

68634073225. 1
68634073226. 2



68634073227.3
68634073228. 4

Question Number : 8 Question Id : 68634018542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions given in order from the options given below:

Just days before the Russian invasion Ukraine, Moscow's forces massing
the border. officials in the medieval town of Lutzen. Germany. afforded landmark status
a Sovietera world war I memorial standing outside a kindergarden in the town center.

1. in. with. of. for
2. 1n. to. on. with
3. of. with. on. to
4. of, on. to. in
Options :
68634073229. 1
68634073230. 2

68634073231.3
68634073232. 4

Question Number : 8 Question Id : 68634018542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions given in order from the options given below:
Just days before the Russian invasion Ukraine, Moscow's forces massing
the border. officials in the medieval town of Lutzen. Germany. afforded landmark status
a Sovietera world war IT memorial standing outside a kindergarden in the town center.
1. in, with. of. for
2. in. to. on. with
3. of. with. on. to
4. of. on. to. in
Options :
68634073229. 1
68634073230. 2

68634073231. 3
68634073232. 4

Question Number : 9 Question Id : 68634018543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



One word substitution for 'Connected with the brain' is:

1. Celestial
2. Cardiac
3. Cerebral
4. Carnival

Options :

68634073233. 1

68634073234.2

68634073235. 3
68634073236. 4

Question Number : 9 Question Id : 68634018543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution for 'Connected with the brain' is:

1. Celestial
2. Cardiac
3. Cerebral
4. Carnival

Options :

68634073233. 1

68634073234. 2

68634073235. 3
68634073236. 4

Question Number : 10 Question Id : 68634018544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with suitable words given below.

Stuti a bit she was not invited by her friend to attend the party.

1. expressed. than
2. surprised. about
3. grumbled. when
4. took. before

Options :



68634073237. 1
68634073238. 2
68634073239. 3
68634073240. 4

Question Number : 10 Question Id : 68634018544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with suitable words given below.

Stuti a bit she was not invited by her friend to attend the party.

1. expressed. than
2. surprised. about
3. grumbled. when
4. took. before

Options :

68634073237. 1
68634073238. 2
68634073239. 3
68634073240. 4

Question Number : 11 Question Id : 68634018545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 boys and 5 girls can complete one work in 8 days. 7 boys can complete the work in 4 days. Number of girls
required to finish the work in half day is:

1. 940
2.280
3.560
4.412
Options :
68634073241. 1
68634073242. 2

68634073243. 3
68634073244. 4

Question Number : 11 Question Id : 68634018545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 boys and 5 girls can complete one work in 8 days. 7 boys can complete the work in 4 days. Number of girls
required to finish the work in half day is:

1. 940
2.280
3.560
4.412
Options :
68634073241. 1
68634073242. 2

68634073243. 3
68634073244. 4

Question Number : 12 Question Id : 68634018546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§ of 40% ofB of 156 = ?
3 39

1.152.6
2.76.8
3.384

4.54.63

Options :

68634073245. 1
68634073246. 2
68634073247. 3
68634073248. 4

Question Number : 12 Question Id : 68634018546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

§ of 40% ofﬁ of 156 = i
39

1.152.6
2.76.8
3.384

4.54.63



Options :

68634073245. 1
68634073246. 2
68634073247. 3
68634073248. 4

Question Number : 13 Question Id : 68634018547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Resp Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. 2 .
The area of the circular round shown as 92 7 m~ then value of r is:

1.18m

7 m

3.22m

o

4. 22m

Options :

68634073249. 1
68634073250. 2
68634073251. 3
68634073252. 4

Question Number : 13 Question Id : 68634018547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. 2 .
The area of the circular round shown as 92 © m~ then value of r is:

1.18m

2.Jnm
3.22m
4. 22m

Options :

68634073249. 1
68634073250. 2
68634073251. 3
68634073252. 4

Question Number : 14 Question Id : 68634018548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

108° —104° _ .
32% -28?
1.3.26
2.3.29
3.3.53
4.3.62
Options :
68634073253. 1

68634073254.2
68634073255. 3
68634073256. 4

Question Number : 14 Question Id : 68634018548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



108° —104° _ 5

32% -28?
1.3.26
2.3.29
3.3.53
4.3.62

Options :

68634073253. 1
68634073254. 2
68634073255. 3
68634073256. 4

Question Number : 15 Question Id : 68634018549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of first 50 terms of the given series 1.3.5.7 is:

1. 45

2.50

4.100
Options :
68634073257. 1
68634073258. 2

68634073259. 3
68634073260. 4

Question Number : 15 Question Id : 68634018549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average of first 50 terms of the given series 1.3.5.7 is:

1.45

2.50

4.100

Options :
68634073257 1



68634073258. 2
68634073259. 3
68634073260. 4

Question Number : 16 Question Id : 68634018550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Resp Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Next number in the given series
27, 64, 125, 216, 343, is:

1. 416

4. 559

Options :

68634073261. 1
68634073262. 2
68634073263. 3
68634073264. 4

Question Number : 16 Question Id : 68634018550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Next number in the given series
27, 64, 125, 216. 343. is:

4.559

Options :

68634073261. 1
68634073262. 2
68634073263. 3
68634073264. 4

Question Number : 17 Question Id : 68634018551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Problem figure is embedded in which of the following alternatives?

Problem figure

[

Options :

68634073265. 1
68634073266. 2
68634073267. 3
68634073268. 4

Question Number : 17 Question Id : 68634018551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Problem figure is embedded in which of the following alternatives?

Problem figure

[

Options :

68634073265. 1
68634073266. 2
68634073267. 3
68634073268. 4

Question Number : 18 Question Id : 68634018552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BLOCKED is related to YOLXPVW in the same way as OZFMXS is related to

1. LAUNCH
2. DEBATE
3.RESULT
4. LABOUR

Options :

68634073269. 1

68634073270. 2

68634073271. 3
68634073272. 4



Question Number : 18 Question Id : 68634018552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BLOCKED is related to YOLXPVW in the same way as OZFMXS is related to
1. LAUNCH
2. DEBATE
3. RESULT

4. LABOUR

Options :

68634073269. 1
68634073270. 2
68634073271. 3
68634073272. 4

Question Number : 19 Question Id : 68634018553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing towards a girl, Anand said "This girl is the daughter of a only child of my father". What is the relation
of Anand's wife to that girl?

1. Daughter
2. Mother
3. Aunt

4. Sister

Options :

68634073273. 1
68634073274. 2
68634073275. 3
68634073276. 4

Question Number : 19 Question Id : 68634018553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing towards a girl. Anand said "This girl is the daughter of a only child of my father". What is the relation
of Anand's wife to that girl?

1. Daughter
2. Mother
3. Aunt

4. Sister

Options :

68634073273. 1
68634073274. 2
68634073275. 3
68634073276. 4

Question Number : 20 Question Id : 68634018554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a joint family of seven persons A. B. C. D. E. F and G. how B is related to E?
Given that -

A. There are two married couples

B. G is a house wife and her husband in a lawyer

C. C is the wife of B, A is an engineer and grand daughter of G'

D. D is the father-in-law of C. a doctor and father of E. a professor
E.F is A's brother and B's son

Choose the correct answer from the options given below:
1. Sister
2. Uncle
3. Cousin
4. Brother
Options :
68634073277. 1
68634073278. 2

68634073279. 3
68634073280. 4

Question Number : 20 Question Id : 68634018554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a joint family of seven persons A, B, C. D. E. F and G. how B is related to E?
Given that -

A. There are two married couples

B. G is a house wife and her husband in a lawyer

C. C is the wife of B, A is an engineer and grand daughter of G’

D. D is the father-in-law of C. a doctor and father of E. a professor
E. F is A's brother and B's son

Choose the correct answer from the options given below:
1. Sister
2. Uncle
3. Cousin
4. Brother

Options :

68634073277. 1
68634073278.2
68634073279. 3
68634073280. 4

Question Number : 21 Question Id : 68634018555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The first Indian. who win the Noble Prize. is:
1. C.V. Raman
2. Amritaya Sen
3. Rabindra Nath Tagore

4. Chandershekhar Subramaniam

Options :

68634073281. 1
68634073282. 2
68634073283. 3
68634073284. 4

Question Number : 21 Question Id : 68634018555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first Indian. who win the Noble Prize. is:
1. C.V. Raman
2. Amritaya Sen
3. Rabindra Nath Tagore

4. Chandershekhar Subramaniam

Options :

68634073281. 1
68634073282. 2
68634073283. 3
68634073284. 4

Question Number : 22 Question Id : 68634018556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the founding members of OPEC in 1960.

A. Qatar

B. Iran

C.Iraq

D. Kuwait

E. Saudi Arabia
F. Venezuela

Choose the correct answer from the options given below:

1.B.C.D.E and F only
2.A.B.C.D and E only
3.A.B.D.E and F only
4.A.C.D.E and F only

Options :

68634073285. 1

68634073286. 2

68634073287. 3
68634073288. 4

Question Number : 22 Question Id : 68634018556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the founding members of OPEC in 1960.
A. Qatar
B. Iran
C.Iraq
D. Kuwait

E. Saudi Arabia
F. Venezuela

Choose the correct answer from the options given below:

1.B.C.D.E and F only
2. A.B.C.D and E only
3.A.B.D.E and F only
4.A.C.D.E and F only

Options :

68634073285. 1

68634073286. 2

68634073287. 3
68634073288. 4

Question Number : 23 Question Id : 68634018557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which is the largest Upanishad?

1. Brihadara nyaba

2. Chadogya

w

. Aitareya
4. Katho

Options :

68634073289. 1
68634073290. 2
68634073291. 3
68634073292. 4

Question Number : 23 Question Id : 68634018557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which is the largest Upanishad?

1. Brihadara nyaba
2. Chadogya
3. Aitareya
4. Katho

Options :

68634073289. 1

68634073290. 2

68634073291. 3
68634073292. 4

Question Number : 24 Question Id : 68634018558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arbitration is defined as:

1. the settlement of labour disputes that takes place between employer and the employees

o

. the settlement of disputes between different companies of a large organisation
3. the accounting for expenses or charges as applicable rather than as paid
4. the indicator of self sufficiency of a country

Options :

68634073293. 1

68634073294. 2

68634073295. 3
68634073296. 4

Question Number : 24 Question Id : 68634018558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arbitration is defined as:

1. the settlement of labour disputes that takes place between employer and the employees

o

. the settlement of disputes between different companies of a large organisation
3. the accounting for expenses or charges as applicable rather than as paid
4. the indicator of self sufficiency of a country

Options :

68634073293. 1
68634073294. 2



68634073295. 3
68634073296. 4

Question Number : 25 Question Id : 68634018559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Year 2023 is celebrated as International Year of.
1. Plant Health
2. Millets
3. Save Earth
4. Sustainable Development
Options :
68634073297. 1
68634073298. 2

68634073299. 3
68634073300. 4

Question Number : 25 Question Id : 68634018559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Year 2023 is celebrated as International Year of.
1. Plant Health
2. Millets
3. Save Earth
4. Sustainable Development
Options :
68634073297. 1
68634073298. 2

68634073299. 3
68634073300. 4

Part B: Hospital Management

Section Id : 686340368
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes



Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 686340616
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 68634018560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Burden of disease is given by :
1. Crude death rate
2. Incidence rate
3. Cause specific death rate
4. Proportional mortality rate
Options :
68634073301. 1
68634073302. 2

68634073303. 3
68634073304. 4

Question Number : 26 Question Id : 68634018560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T T YR dIF (§S) fean S g -
1. SRNYd g R ERT

o

. g1 (3T9a) DI R GRT

3. PRSP AU GG R GRI
4. AUIAD JI R ERT

Options :

68634073301. 1
68634073302. 2
68634073303. 3
68634073304. 4

Question Number : 27 Question Id : 68634018561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Secondary level of Prevention include all of the following except :

1. Health screening for Diabetes Mellitus
2. Reconstructive surgery in leprosy
3. Case finding for Falciparum malaria
4. Contact tracing for STIs

Options :

68634073305. 1

68634073306. 2

68634073307. 3
68634073308. 4

Question Number : 27 Question Id : 68634018561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fadio® wR 31 Apum § & sffafvaa. 92t wfdfea €1
1. HYHE Aftey o1 Wi S
2. P AT H TRES b
3. B eqURH HARA1 & &9 BT Udl A7
4. STIs & forg Hudb SR (3FvEm)

Options :

68634073305. 1
68634073306. 2
68634073307. 3
68634073308. 4

Question Number : 28 Question Id : 68634018562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Ottawa charter of health promotion incorporates all of the following key action areas except :
1. Build healthy public policy
2. Reorient health services
3. Build Social Security System

4. Strengthen community action for health

Options :
68634073309. 1



68634073310. 2
68634073311. 3
68634073312. 4

Question Number : 28 Question Id : 68634018562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WA GUR & U 3fierar Ik d & sfaRad w1 wia fepang wfiferd €1
1. TR 5 ifd &1
. TRy Yarsf i gedafeyd Al
IS R&T 7 BT a0
4. WA & g grgeTie farsii &l w<rad S

o

(78]

Options :

68634073309. 1
68634073310. 2
68634073311. 3
68634073312. 4

Question Number : 29 Question Id : 68634018563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which country has the highest Life Expectancy Rate :

1.UK
2.USA
3. Japan
4. France

Options :

68634073313. 1

68634073314. 2

68634073315. 3
68634073316. 4

Question Number : 29 Question Id : 68634018563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o 321 1 Sifa- I &% Hate 82
1.9%
2.4TET
3. S

4. %19

Options :

68634073313. 1
68634073314. 2
68634073315.3
68634073316. 4

Question Number : 30 Question Id : 68634018564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
DALY is:
1. Disablity Adjusted Life year
2. Disability Associated Life year
3. Disease - Adjusted Life year
4. Disease - Associated Life year
Options :
68634073317. 1
68634073318. 2

68634073319. 3
68634073320. 4

Question Number : 30 Question Id : 68634018564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DALY ®:
1. fE3feferdt Teufes asw sk



68634073317. 1
68634073318. 2
68634073319. 3
68634073320. 4

Question Number : 31 Question Id : 68634018565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Nephrology deals with the disease of :
1. Nerves
2. Kidneys
3. Parasites
4. Children
Options :
68634073321. 1
68634073322. 2

68634073323.3
68634073324. 4

Question Number : 31 Question Id : 68634018565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Resp Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Avpreion § 9 Yeifire I BT ITER Bl ¢
1. df3eTy

2.99% ()
3. ORofdr

4. Ry @@=

Options :

68634073321. 1
68634073322.2
68634073323. 3
68634073324. 4

Question Number : 32 Question Id : 68634018566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Soiling index is an indicator of :

1. Water Pollution

o

2. Sand Pollution
3. Excreta pollution

4. Air Pollution

Options :

68634073325. 1
68634073326. 2
68634073327. 3
68634073328. 4

Question Number : 32 Question Id : 68634018566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. SIc UgHUT BT
2. S Uy &1
3. HA-HA UgHUI &1
4. 91g UgHU &7
Options :
68634073325. 1
68634073326. 2

686340733273
68634073328. 4

Question Number : 33 Question Id : 68634018567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Horrock's apparatus estimates :

1. Free chlorine

<

2. Combined Chorine
3.(1)+(2) both
4. Chlorine demand

Options :
68634073329. 1



68634073330. 2
68634073331. 3
68634073332. 4

Question Number : 33 Question Id : 68634018567 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Resp Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BRI IJUHUI J Sfd BI W1l © -
1. g FARIA Pi
2. g RIRH DI
3.(1)+ ) AT Pt
4. FARM AT B

Options :

68634073329. 1
68634073330. 2
68634073331.3
68634073332. 4

Question Number : 34 Question Id : 68634018568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Resp Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most undesirable metal in drinking water is :
1. Zinc
2. Copper
3.Iron
4. Lead
Options :
68634073333. 1
68634073334. 2

68634073335. 3
68634073336. 4

Question Number : 34 Question Id : 68634018568 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 & urit H waife sraifed 4ig @ -
1. foiw
2. PIR (dlan)
3.718
4. s (I=m

Options :

68634073333. 1
68634073334. 2
68634073335. 3
68634073336. 4

Question Number : 35 Question Id : 68634018569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is not a source of indoor Air Pollution :
1. Carbon monoxide
2. Nitrogen dioxide
3. Radon
4. Mercury vapour
Options :
68634073337. 1
68634073338. 2

68634073339. 3
68634073340. 4

Question Number : 35 Question Id : 68634018569 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafaied & 9 B srdaidl GSR) arg Hgyl 1 Hid T8 82
1. Pra- AAEES
2. RIS SR 3HITS
3.8
4. TR (URT) A

Options :



68634073337. 1
68634073338. 2
68634073339. 3
68634073340. 4

Question Number : 36 Question Id : 68634018570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is true for Global warming ?

1. CO, is a major greenhouse gas

2. Stratosphere Ozone layer is harmful

3. CFC increase's stratosphere Ozone layer

4. Kyoto Protocol called for 20% reduction in green house emissions
Options :
68634073341. 1
68634073342. 2

68634073343. 3
68634073344. 4

Question Number : 36 Question Id : 68634018570 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafea & 3 w1 ydsdig ag= (aea i) & e a8
1.CO, U& g A g9 T &
. AT Hed P e WRd SPRS &
3. CFC & YHaIY Hsd @1 3ifeil- &Ra & 9f& it §
4. IE AIedTd B 7 8139 I H 20% HHI @F P Uag Tl
Options :
68634073341. 1
68634073342. 2

68634073343. 3
68634073344. 4

[}

Question Number : 37 Question Id : 68634018571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A child has multiple itchy popular lesions on the genitalia and fingers. Similar lesions are also seen in the
younger brother. Which of the following is most possible diagnosis?

1. Atopic dermatitis

2. Papular urticaria

3. Scabies

4. Allergic contact dermatitis
Options :
68634073345. 1
68634073346. 2

68634073347. 3
68634073348. 4

Question Number : 37 Question Id : 68634018571 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP g & o1 AR STl & 3Hd Goralt aTd GMaR 914 § | $H1 aig & °1d 39 sic Uig 4 i 38
U 8| Fefeafad § 4 o9e gaifie dy4a Ram 82

1. Teift® SHergfey
2. gHeR furdt (enféatean)

3. gt (Wi
4. Qi Hud sHersfed

Options :

68634073345. 1
68634073346. 2
68634073347. 3
68634073348. 4

Question Number : 38 Question Id : 68634018572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Epidemiology deals with study of :
1. Epidemic diseases

2. Communicable diseases

3. All health-related events and states in a population

4

. Communicable and non comunicable diseases



Options :

68634073349. 1
68634073350. 2
68634073351. 3
68634073352 4

Question Number : 38 Question Id : 68634018572 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ufrSfyaiieren # sreogH faar orar 8:
1. ETHRI AT &1
2. aRofta I &1
3. TGS § ey Saftd guft gedref 3R st &1
4. RO 3R SRFERUMT A7 BT
Options :
68634073349. 1
68634073350. 2

68634073351.3
68634073352 4

Question Number : 39 Question Id : 68634018573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Incidence is defined as :
1. Number of cases existing is a given population at a given moment
2. Number of old cases present during a specified period in a given population
3. Number of cases existing in a given period
4. Number of new cases occurring during a specified period in a given population
Options :
68634073353. 1
68634073354. 2

68634073355. 3
68634073356. 4

Question Number : 39 Question Id : 68634018573 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TAGERSm S FEuduRuiaFmmne:
1. €1 775, S H, faU 1Y 95y UR UIY ¢ HREl B e
2. 41778 SeEn § fAgd $a H Sufyd [ 3wl &1 Sei
3. fQU T 1 # IufRyd Al Bt g
4. 77 S . Fad e H UIg e U AmEl 3t ge

Options :

68634073353. 1
68634073354. 2
68634073355. 3
68634073356. 4

Question Number : 40 Question Id : 68634018574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If P indicates Prevalence. I-Incidence and D-duration of illness, then the relationship between Prevalence and
Incidence is expressed as :

LI=PxD

(&)
-
]

4.P=I1+D

Options :

68634073357. 1
68634073358. 2
68634073359. 3
68634073360. 4

Question Number : 40 Question Id : 68634018574 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gﬁpmﬁ. 1-9CH1 B YT D- 3{afe &1 SiaT & dl. TOR 3R Ue1 & &g Sy oI 3ifirouad favar sirdr

(]
-
Il

4.P=I+D

Options :

68634073357. 1
68634073358. 2
68634073359. 3
68634073360. 4

Question Number : 41 Question Id : 68634018575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
A 'Primary Health Centre (PHC) caters to a Rural population of :
1. 25.000
2.50.000
3.20.000
4. 30.000
Options :
68634073361. 1
68634073362. 2

68634073363. 3
68634073364. 4

Question Number : 41 Question Id : 68634018575 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o UUfie WA $% (PHC) P YT S &) Yar a1 gl

1.25.000

{39

. 50.000

3.20.000

4. 30.000



Options :

68634073361. 1
68634073362. 2
68634073363. 3
68634073364. 4

Question Number : 42 Question Id : 68634018576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
'"Endemic Disease' means that a disease :
1. Is constantly present in a given population group
2. Exhibits seasonal pattern
3. Occurs clearly in excess of normal expectancy
4. Is prevalent among animals
Options :
68634073365. 1
68634073366. 2

68634073367. 3
68634073368. 4

Question Number : 42 Question Id : 68634018576 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HETHRI I BT 3 B -

1. St 37 et Sieie g & @R &1 g1 §
2. g WEY UeRid HRar s
3. WFEY Y I TR s gidr g
4. 9FaR) & vafea @

Options :

68634073365. 1

68634073366. 2

68634073367. 3
68634073368. 4

Question Number : 43 Question Id : 68634018577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In India. Primary Healthcare System is a tier system :

4.4

Options :

68634073369. 1
68634073370. 2
68634073371.3
68634073372. 4

Question Number : 43 Question Id : 68634018577 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR § wiufie W dEa dd TRA@aA B
12

2:3

4.4

Options :

68634073369. 1
68634073370. 2
68634073371. 3
68634073372. 4

Question Number : 44 Question Id : 68634018578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Systematic study of human diseases and social factors is known as :

1. Social medicine

2. Social Pathology

w

. Social Physiology
4. Commonity medicine
Options :

68634073373. 1
68634073374.2



68634073375. 3
68634073376. 4

Question Number : 44 Question Id : 68634018578 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG AT SR WIS SRS 1 oFafedd 8- Healdl o-
1. g Shfd fagm
2. graTfore 3 fag (et
3. AT IR foba faq
4. AT Y fagm

Options :

68634073373. 1
68634073374. 2
68634073375. 3
68634073376. 4

Question Number : 45 Question Id : 68634018579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Study of physical. social and cultural history of man is known as :

1. Anthropolgy
2. Sociology
3. Social Science
4. Acculturation

Options :

68634073377. 1

68634073378. 2

68634073379. 3
68634073380. 4

Question Number : 45 Question Id : 68634018579 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIa & Hifeep, ST SR ipiae Siderd & e0u $1 ded o -
1. T4 fa311 (QTaTcr)

2. S A
3. Ao fag=
4. TEpia Hopru fagH
Options :
68634073377. 1
68634073378. 2

68634073379. 3
68634073380. 4

Question Number : 46 Question Id : 68634018580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Society is a:
1. Group with different beliefs
2. Group with different religions
3. System of relations between individuals
4. Group with same beliefs
Options :
68634073381. 1
68634073382.2

68634073383. 3
68634073384. 4

Question Number : 46 Question Id : 68634018580 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T B -

1. fafirs grgarsi aren 99

[

. fim o &1 wgg
3. ogfeRTdl & 19 Haei o1
4. FHE A1 9T 95

Options :



68634073381. 1
68634073382. 2
68634073383. 3
68634073384. 4

Question Number : 47 Question Id : 68634018581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
simply means 'fitting the job to the worker' :

1. Economics

2. Bionomics

3. Socionomics

4. Ergonomics
Options :
68634073385. 1
68634073386. 2

68634073387. 3
68634073388. 4

Question Number : 47 Question Id : 68634018581 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&1 Ra 3 § PIIRI & o Sugad ord
1. SRR
. ofg aiifRufaat

3. g o9 IRd

o

4. YH &I ARE

Options :

68634073385. 1
68634073386. 2
68634073387. 3
68634073388. 4

Question Number : 48 Question Id : 68634018582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Acculturation" means :
1. Concealing the quality of food by addition of toxicants
2. Exchange of ideas between people
3. Cultural contact
4. Process by which individual gradually acquires a culture
Options :
68634073389. 1
68634073390. 2

68634073391. 3
68634073392. 4

Question Number : 48 Question Id : 68634018582 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WD I AT (STH) BT 3 -
1. fawraa gerdf 1 iy oM #1 1ura &1 g
2. S & €9 H fa=RI @1 3eH-uaH
3. Gipla® Hudh
4. 9% wfchan forad aafaa dR-ofR fodl Sepfa 1 sroemar 8

Options :

68634073389. 1
68634073390. 2
68634073391. 3
68634073392. 4

Question Number : 49 Question Id : 68634018583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Medical Education in India is regulated by

1. National Medical Commission

[ =]

. Indian Medical Council
3. Indian Council of Medical Research

4. AIIMS

Options :
68634073393. 1



68634073394. 2
68634073395. 3
68634073396. 4

Question Number : 49 Question Id : 68634018583 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Resp Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRa & fafde fRign ®1 Fafaa s e-
1. g Fafbea s
R R aRwg

4. AIIMS

[}

w

Options :

68634073393. 1
68634073394. 2
68634073395. 3
68634073396. 4

Question Number : 50 Question Id : 68634018584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
is a 'learned behaviour which has been socially acquired'
1. Society
2. Environment
3. Community
4. Culture
Options :
68634073397. 1
68634073398. 2

68634073399. 3
68634073400. 4

Question Number : 50 Question Id : 68634018584 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TP AfeTiEa (@i g R & o wmifiie & H sifid fear sran g1
1. JHS
2. TiaRy
3. geE
4. G%pid
Options :
68634073397. 1
68634073398. 2

68634073399. 3
68634073400. 4

Question Number : 51 Question Id : 68634018585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The last Census in India was held in the year
1. 2021
2.2019
3.2011
4.1991
Options :
68634073401. 1
68634073402. 2

68634073403. 3
68634073404. 4

Question Number : 51 Question Id : 68634018585 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd § st o o AR ]

1. 2021

o

. 2019
3.2011
4.1991

Options :
68634073401. 1



68634073402. 2
68634073403. 3
68634073404. 4

Question Number : 52 Question Id : 68634018586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

ASHA stands for :

1. Approved Social Health Activator

o

. Accredited Secondary Health Activist
3. Accredited Social Health Activist
4. Annual Schedule of Hospital Administration

Options :

68634073405. 1
68634073406. 2
68634073407. 3
68634073408. 4

Question Number : 52 Question Id : 68634018586 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ASHA ST QUi A & :
1. TYes HIRTd 3 Ufdeaex
2. Ufpf3fes Ydhsil s Ufdefawe
3. UfohfSfes Hiw oy Ufdefawe
4. T NS TP giied Tsfafesm
Options :
68634073405. 1
68634073406. 2

68634073407. 3
68634073408. 4

Question Number : 53 Question Id : 68634018587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following city do note have an All India Institute of Medical Sciences (AIIMS)?

1. Jodhpur
2. Bhubhaneshwar
3. Patna
4. Thiruvananthapuram

Options :

68634073409. 1

68634073410. 2

68634073411. 3
68634073412. 4

Question Number : 53 Question Id : 68634018587 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafad el & 3 foad sf@a yRdg smyfdam 9= (anMs) 781 &2

1. YR
2. YaIR
3.YcHr
4. faeaagH

Options :

68634073409. 1

68634073410. 2

68634073411. 3
68634073412. 4

Question Number : 54 Question Id : 68634018588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Myocardial Infarction is the term used for
1. Stroke

2. Heart attack

3. Food poisoning

e

. Kidney failure

Options :
68634073413. 1



68634073414. 2
68634073415. 3
68634073416. 4

Question Number : 54 Question Id : 68634018588 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSR AT (RIS ad 3BT <) Xeg BT JanT & forg faan oran 3|
1. 3MTHTd (1)
2. & &1 3R7 (ggamm)
3. @Te] fauTeRid
4. & @R1E BT

Options :

68634073413. 1
68634073414. 2
68634073415. 3
68634073416. 4

Question Number : 55 Question Id : 68634018589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The medical Doctor who deals with pregnancy and child birth is :

1. Pulmonologist
2. Gynaecologist and Obstetrician
3. Opthalmologist
4. Peadodentist

Options :

68634073417. 1

68634073418. 2

68634073419. 3
68634073420. 4

Question Number : 55 Question Id : 68634018589 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a8 Rt ot mufawn iR RIg o= A Gt 2. a8 8 -

1. P I fadwy (geHIdloRe)
2. 7yl fas e et 1 faie
3. 747 I fadiwg
4. <d Rifbs

Options :

68634073417. 1

68634073418. 2

68634073419. 3
68634073420. 4

Question Number : 56 Question Id : 68634018590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the hospital Biomedical waste management what is the colour code of the bin which is used for disposing
sharps?

1. White

2. Pink

3. Magenta

4. Red
Options :
68634073421. 1
68634073422. 2

68634073423. 3
68634073424. 4

Question Number : 56 Question Id : 68634018590 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT & Siae fafean ulky yaua & 34 S8 & 31 31 His F1 8. e Suan i SieRi &
frarRu & fo fear wman &:

1.9d



Options :

68634073421. 1
68634073422. 2
68634073423. 3
68634073424. 4

Question Number : 57 Question Id : 68634018591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Resp Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The medical procedure of 'Dialysis’ is conducted on patients suffering from disease :

1. Bones
2. Brain

3. Kidneys
4. Spleen

Options :

68634073425. 1
68634073426. 2
68634073427. 3
68634073428. 4

Question Number : 57 Question Id : 68634018591 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Resp Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
srfary fafe fafy o1 wan 31 & 1t & forg feban e 81
1. 3Ry
Hi&s

3. 78 (@FP)
4. el

Options :

68634073425. 1
68634073426. 2
68634073427. 3
68634073428. 4

o

Question Number : 58 Question Id : 68634018592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following system of medicine is not included in the AYUSH stream?

1. Ayurveda
2. Unani
3. Tibetan Medicine
4. Yoga and Naturopathy

Options :

68634073429. 1

68634073430. 2

68634073431. 3
68634073432. 4

Question Number : 58 Question Id : 68634018592 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3TN (AYUSH) ¥0 § fafafaa sinfy &= § oF-ur afifed ==& g2
1. 3MdE
2. gAML
3. foresrclt e
4. 91 SR wpfae fafden

Options :

68634073429. 1
68634073430. 2
68634073431. 3
68634073432 4

Question Number : 59 Question Id : 68634018593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
ICMR stands for :
1. International Centre for Management Research
2. Indian Centre for Material Research
3. Indian Council for Medical Research

4. International Council for Medical Resources

Options :
68634073433. 1



68634073434. 2
68634073435. 3
68634073436. 4

Question Number : 59 Question Id : 68634018593 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ICMR PTG -
1. $THTAT Hex BR T e
3. 31377 iR BR AfeHa Red
4. TR Pifea BR AfsHd REE

[}

Options :

68634073433. 1
68634073434. 2
68634073435. 3
68634073436. 4

Question Number : 60 Question Id : 68634018594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The largest vaccine manufacturer in the world is :
1. Dr. Reddys Lab
2. Serum Institute of India
3. Glaxo

4. Sun Pharma

Options :

68634073437. 1
68634073438. 2
68634073439. 3
68634073440. 4

Question Number : 60 Question Id : 68634018594 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fay & dRfiA @) 1 a3 g91 Ffar e -
1. 31 g ae
2. URy Efeae ff S
3. el
4. F B

Options :

68634073437. 1
68634073438. 2
68634073439. 3
68634073440. 4

Question Number : 61 Question Id : 68634018595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Coronory angioplasty is conducted by :
1. Orthopedician
2. Ophthalmologist
3. Cardiologist
4. General Surgeon
Options :
68634073441. 1
68634073442. 2

68634073443. 3
68634073444. 4

Question Number : 61 Question Id : 68634018595 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
PRANUSA@RST & GRIHUA B ol o
1. SUfSiREA
2. T IRE
3. prfsgraifoRe
4, SRE FoiA

Options :
68634073441. 1



68634073442. 2
68634073443. 3
68634073444. 4

Question Number : 62 Question Id : 68634018596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Indian Standards for Accreditation of Hospitals is :

1. ACHS
2.]JCI
3.NABL
4. NABH

Options :

68634073445. 1

68634073446. 2

68634073447. 3
68634073448. 4

Question Number : 62 Question Id : 68634018596 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATd P {1 31 & U HRAG AFS ©

1. ACHS
2.1CI
3. NABL
4. NABH

Options :

68634073445. 1

68634073446. 2

68634073447. 3
68634073448. 4

Question Number : 63 Question Id : 68634018597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following hospital stock is the part of National Stock Exchange. NIFTY 50 index.
1. Aster DM healthcare
2. Apollo Health Care Enterprises Limited
3. Narayana Health

4. Max Healthcare

Options :

68634073449. 1
68634073450. 2
68634073451. 3
68634073452. 4

Question Number : 63 Question Id : 68634018597 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafifad & 3 311 91 oRudra i, AP TH NIFTY-50 FIPId BT HIT 52
1. TR S1 TH P
2. UG gHTR Tz faffies
3. ARV 8 W
4, TR T PW

Options :

68634073449. 1
68634073450. 2
68634073451. 3
68634073452. 4

Question Number : 64 Question Id : 68634018598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Epidemiological triad consists of :
1. Agent. environment, treatment
2. Agent. host. environment
3. Vector. carrier. environment

4. Agent. vector. host

Options :
68634073453. 1



68634073454. 2
68634073455. 3
68634073456. 4

Question Number : 64 Question Id : 68634018598 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TemK fagria (effsfrieimea) B | afifia & -
1. PHS (Toi<). Tafaru. ITER
2. TS (Toi<). WU, STER
3. TP, PRI (FATEP). JaTaR0l
4. PHD (Toi2), A6, TRUIST

Options :

68634073453 1
68634073454. 2
68634073455. 3
68634073456. 4

Question Number : 65 Question Id : 68634018599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'Course of a disease process without any intervention' is the definition of :

1. Epidemiological triad
2. Spectrum of disease
3. Epidemiology
4. Natural history of disease

Options :

68634073457. 1

68634073458. 2

68634073459. 3
68634073460. 4

Question Number : 65 Question Id : 68634018599 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o ot gy iy &, 1 wfehar &t 3rafdl, 78 gk 8:
1. 7Rt fagr B @t
2. A B IS () Bt
3. HemR! fagm ot
4. 3 1 T fER A

Options :

68634073457. 1
68634073458. 2
68634073459. 3
68634073460. 4

Question Number : 66 Question Id : 68634018600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Many hospitals/health care companies are listed in Stock Exchange of India.
Reason R : For listing in Stock Exchange the company must has issued an Initial Public Offer (IPO).
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

[ =]

. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634073461. 1
68634073462. 2
68634073463. 3
68634073464. 4

Question Number : 66 Question Id : 68634018600 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁgmﬁrmnﬁ:qasiﬁmm(AssemonA)%w  fifad § ol ¥R 3UP BRUT (Reason R) P
=UH:

HFUBYT A: 1P SRIATA / WY SE-HTd A T HUGT YR & Wi Tagds § Yoes g8 ol

ggv%m:eﬁmﬁa ¥ gdias 8 & iU $9- 31 IR Qidwia URd1d (1P0) TH @1 Sazgasdl
[

Sudad A & e 1, 3T Y fawed H 9 98t IR &1 99 Bt
1. A SR R G T8l § IR R. A I e o1& §
2. A SR R GHT T8 § SR R, A 31 W6 e el §
3.ATT R AR ST ©

4. ATILAPIRITS

Options :

68634073461. 1
68634073462. 2
68634073463. 3
68634073464. 4

Question Number : 67 Question Id : 68634018601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : In the last 10 years. there has been a phenomenal increase in the number of medical seats
(MBBS) in our country.

Reason R : The government has changed the regulatory frame work for medical education and increased the
investment in it.
In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634073465. 1
68634073466. 2
68634073467. 3
68634073468. 4



Question Number : 67 Question Id : 68634018601 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ?ﬁwﬁqwﬁzwmuﬂ(AssmionA)%w T fifga § ol 9R1 39S PRUT (Reason R) B
F=UH:

iy A: S 10 96T § AR 39 F 2w 1 At (vBBS) 1 T & 2ryayd afS g3 21
PRI R: WHR A Faferear Rien & fFrame g § uikad= faran 8 iR fafeen Rien & Haw s sem g
S HUA B 1P 1. Ay 7Y fased & 9 981 IR 31 994 PIoIg:
1. A 3R R G & € AR R. A T Tt oarem @
2. A SRR 31 He1 § SR R. A P We! SIS el &
3. AT G AMPAR AT
4. AHAR APTRTA R
Options :
68634073465. 1
68634073466. 2

68634073467. 3
68634073468. 4

Question Number : 68 Question Id : 68634018602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Obesity cannot be measured in the Indian Context.

Reason R : Body mass Index above 25 is considered as obesity.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct
Options :

68634073469. 1
68634073470. 2



68634073471. 3
68634073472. 4

Question Number : 68 Question Id : 68634018602 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬁﬁgmmmﬂq%:Wmm(AssertionA)a3Fq ﬁﬁl@ﬁ%?ﬁ@ﬂtﬂﬁ?m(}msonm%
=UH:

HfUBYT A: YR Teof & Hrerd &1 A 6 o FHar g |

PROIR: 25 I 305 IR SoTHH ISP (BMI) I HISTHT HIHT S 3|

SHd FYHl & e 1. 3T T fawed & 9 w8t SR #1994 St
1. A 3R R I OEl € iR R. A P TET oara @

2. A 3R R GHI 981 § SR R. A P TEt AR el ©
3. ATIE AP R 3T B

4. ATIC APIRITR

Options :

68634073469. 1
68634073470. 2
68634073471. 3
68634073472. 4

Question Number : 69 Question Id : 68634018603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The Pre-Conception and Pre-Natal Diagnostic Techniques (PC and PNDT) Act aims at
protection of sex selection before and after conception.

Reason R : The PC-PNDT Act 1994, 2003 also aims for prevention of misuse of pre-conception and pre-natal
diagnostic technique for sex determination.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct
4. A is not correct but R is correct

Options :

68634073473. 1

68634073474. 2

68634073475. 3
68634073476. 4

Question Number : 69 Question Id : 68634018603 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

919 A PYA UM R : TP SHNDHYT (Assertion A) B FU H faf¥d § o U IUS PRI (Reason R) B
LS

Y A: iU gd SR vwa gd ReE aeie sififm (P Td PNDT) $1 35%a iU § Od SR
IS gHTd o 997 & GoUanT & GR&T HaH S 5l

PRUTR: PC-PNDT 397 1094, 2003 F1 I5=0 THIHH d 3R UYId Yaqd fiToiid - & goudnT
Bt ABUH BT 0 B

S HUl B M1l 1. AU MY faswed # 9 961 SR &1 99 Difog:
1. A 3R R S 9E1 § 3R R, A 1 UE1 o §
2. A IR R GFI 981 § SRR A 31 W TS 61 ©
3.AFT B AR 3 R

4. AT APIRTAT

Options :
68634073473. 1
68634073474.2



68634073475. 3
68634073476. 4

Question Number : 70 Question Id : 68634018604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : To prevent Hospital Acquired Infection healthcare workers employed in the hospital should be
vaccinated against Hepatitis-B

Reason R : To prevent Hospital Acquired Infection the infectious waste handlers should wear heavy duty
gloves while dealing with the waste matter.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A is ture but R is false
4. A is false but R is true
Options :
68634073477. 1
68634073478. 2

68634073479. 3
68634073480. 4

Question Number : 70 Question Id : 68634018604 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁglmﬁmmﬁ:@&ﬁwuq(AssemonA)%Fq  forfad § ol G¥R1 3UP BRUT (Reason R) F
=UH:

SfUFYT A: 3RUAT H HRRG WA JaT Sl B rgara § ifofd oaur 3 91 $ fou giesfes-
B @1 <1 QT oA 91fRU |

PRI R: SdTd J 3ifofd vl § g91a & g Gofia iy ot & sy gerf & d9e= &
HY AP Holgd S&AHI PI IUTN HAT I

Suad A & e 5, 3 T fawed 9 98 S &1 99 St
1. A 3R R G T8I § 3R R. A F1 U5 oIS

2. A 3R R GHI 98I € R R. A P Tt A= TRl ©
3. ATIE AP R 3T R

4. ANEI R APIRTT R
Options :
68634073477. 1
68634073478. 2

68634073479. 3
68634073480. 4

Question Number : 71 Question Id : 68634018605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Critically ill patients who need constant monitoring of their clinical condition and require
support are managed in ICU (Intensive Care Unit).
Reason R : A well trained doctor in critical diseases should be always available 247 in the ICU's.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false
4. A 1s false but R is true

Options :
68634073481. 1
68634073482. 2



68634073483. 3
68634073484. 4

Question Number : 71 Question Id : 68634018605 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ?ﬁmmm%@mﬂq (Assex‘tionA)%Fq ﬁm%fﬁmmm(}{easonR)a?
=UH:
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SHIGYGHI BIdl 8. I ICU (16 fafhear $o18) & @ il g

PRI R: ICU & T fafere 3a-uma & fow va guikiféd Staex 247 98a Suaed 61 afeu|
Sy HUAl & faie 1. fau MU fawedi § 3 951 SR &1 997 DI
1. A R R GHI T8I § SR R. A P ! AT ©

2. A 3R R SHI 981 § SR R. A F) TEt AremT el §
3.ATGIR APAR 3T B

4 AT APIR TR

Options :

68634073481. 1
68634073482. 2
68634073483. 3
68634073484. 4

Question Number : 72 Question Id : 68634018606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Disinfection and sterilization are very important functions of practitioners of community
medicine.

Reason R : The practitioners in the field of community medicine should be trained properly in disinfection
and sterilization in their settings.
In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false
4. A is false but R is true
Options :
68634073485. 1
68634073486. 2

68634073487. 3
68634073488. 4

Question Number : 72 Question Id : 68634018606 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. A 3R R G 981 § SR R, A DI T8I RS &

2. A SR R HT T8I § SR R. A P W TS T B
3. AT R AP R ST R
4. ASNAR APTR AR

i

68634073486. 2
68634073487. 3



68634073488. 4

Question Number : 73 Question Id : 68634018607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : Oncology is the branch of medicine which deals with cancer.

Statement II : Radiotherapy. chemotherapy and surgery are the modes of treatment in oncology.

In the light of the above statements. choose the most appropriate answer from the options given below :
1. Both Statement I and Statement II are correct
2. Bothe statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :

68634073489. 1
68634073490. 2
68634073491. 3
68634073492. 4

Question Number : 73 Question Id : 68634018607 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ry syfRumug:
PYA I: S-Drarol i @i a8 TRaT &, ol HER I afd g

FYF 11: SRR, FEfR iR Wi siwrarst § SUaR @t gsfaai g1
SH Yl & e o, 3T Y fawedi & 9 98 SR 31 99 Bt
1. BYA1 R 11 G T &

2. PYT1 AR 11 AT ST
3. BYT1 A ©. Afh PUT 11 A &

4. YT AT L. APTPYTN T &

Options :
68634073489. 1



68634073490. 2
68634073491. 3
68634073492. 4

Question Number : 74 Question Id : 68634018608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : National Institute of Nursing Council is the regulatory board for nurses in India.

Statement II : Nursing education and nurses can come under the regulation of National Medical Commission.
In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both statement I and statement II are correct
2. Both statement I and statement II are incorrect
3. Statement I is correct but statement II is incorrect
4. Statement I is incorrect but statement II is correct
Options :
68634073493. 1
68634073494. 2

68634073495. 3
68634073496. 4

Question Number : 74 Question Id : 68634018608 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁ%a’lmﬁﬁm’mﬁ
FYA 1: AP AR SR uRwe (e SReeye sift AR i), yRa # 79 & o Fame §1s &1

HYU 1: AR e SR 7, g fafebe s & fFrawe | o wadi €1
Iudad BuHl & Maie 1, AU T fawedl § 8 95 SR & 997 St

1. BY 1 AR 11 3H I &

2. YT AR 11 HI A §
3. PYF 1 G ©. AfpT SYF 11 3T &

4. PYT1 3T ¢, A PYT I T &

Options :

68634073493 1
68634073494. 2
68634073495. 3
68634073496. 4

Question Number : 75 Question Id : 68634018609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I: Angiography and angioplasty are done in cardiac catheterization laboratory in a hospital.

Statement II: Angioplasty is the process in which blocks in the heart are removed and stents placed.
In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634073497. 1
68634073498. 2

68634073499. 3
68634073500. 4



Question Number : 75 Question Id : 68634018609 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁaﬁﬁwﬁﬂ’m%
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1. PYF 1 ARG I &
2. BYF 1 3R 1 ST ST &
3. FY 1 9 8. A SUT 11 3T B

4. PYTI TS, AP PYT I I B

Options :

68634073497. 1
68634073498. 2
68634073499. 3
68634073500. 4

Question Number : 76 Question Id : 68634018610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I : In India there is no legislation pertaining to transplantation of human organs.

Statement II : Indian Parliament has passed an act named Human Organ Transplantation Act.
In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both statement I and statement II are correct
2. Both statement I and statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but statement II is correct
Options :
68634073501. 1
68634073502. 2

68634073503. 3
68634073504. 4



Question Number : 76 Question Id : 68634018610 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁamiﬁﬁqﬂ‘!%

FYF 1: HRd J TG 3477 & GRG0 Gt HIS B 8 8|
PYF 11: HRATY TGS 7 HHG 37 IR0 T4 U Aoy aiia fear g1

Judad BUHl & Maie 1. fau T fawedl § 8 95 SR & 997 It
1. FYA 1R 13 94 §
2. PYA R I H A
3. PYF 1 9 8. Al BUF 11 39 §

4. BYT AT S, AP PYT I T &

Options :

68634073501. 1
68634073502. 2
68634073503. 3
68634073504. 4

Question Number : 77 Question Id : 68634018611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Family limitation and spacing of births contribute substantially to the lowering of Infant
Mortality Rate.

Statement II : The Risk of death is greatly enhanced if the last child was born less than 2 years ago and if the
mother already has four or more children.
In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634073505. 1

68634073506. 2
68634073507. 3



68634073508. 4

Question Number : 77 Question Id : 68634018611 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁa‘wtﬂﬁ?’ﬂ!%
FYF 1: URAR BT G FAT 3R 770 & i 3R, R g &R 31 589 3 § Agayul airer Sar g
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2. PYA1 IR 1 ST A &
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4. DY I L. AP PYT N T

Options :

68634073505. 1
68634073506. 2
68634073507. 3
68634073508. 4

Question Number : 78 Question Id : 68634018612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Gestation Diabetes is hyperglycemia with blood glucose values above normal but below those
diagnostic of diabetes occurring during pregnancy.

Statement IT : Women with gestation diabetes are at an increased risk of complication during pregnancy and
at delivery.

In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect

4. Statement I is incorrect but Statement IT is correct

Options :
68634073509. 1



68634073510. 2
68634073511. 3
68634073512. 4

Question Number : 78 Question Id : 68634018612 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Shear 350 |
68634073510. 2

68634073511. 3
68634073512. 4

Question Number : 79 Question Id : 68634018613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Accredited social health activists (ASHA) workers will be involved to bring out suspected cases
from their villages for diagnosis at PHC
Statement II : ASHA workers will not take the follow up of the patients for completion of their treatment.
In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both Statement I and Statement II are true
2. Both Statement I and Statement I are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement II is true

Options :

68634073513. 1
68634073514. 2
68634073515. 3
68634073516. 4

Question Number : 79 Question Id : 68634018613 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. PYT1 AR 11 T &
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Options :
68634073513. 1
68634073514. 2

68634073515.3
68634073516. 4



Question Number : 80 Question Id : 68634018614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In health education. for the adoption of new ideas and practices the following stages are involved and the
correct process of sequencing is :

A. Interest

B. Awareness
C. Trial

D. Evaluation
E. Adoption

Choose the correct answer from the option given below :
1.A,C,D,E,B
2.B,A.D,C.E
3.:B.A,C,D.E
4.A.B.C.D.E

Options :

68634073517. 1
68634073518. 2
68634073519. 3
68634073520. 4

Question Number : 80 Question Id : 68634018614 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W&gﬁﬁmﬁw IR T B o @t ufhar & fRufafaa aftifd 89 € ok 3@ 98!
P S :

A. Bl
B. SR=a&dl
cﬂWm

D. HliA
E. 3T (TSIRM)

=i fqu e faspedl & 9§ 91 IR &1 9 BifoIL:
1.A.C.D.E.B
2.B,A,D,C.E
3.B.A.C.D.E

4.A,B.C,D,E



Options :

68634073517. 1
68634073518. 2
68634073519. 3
68634073520. 4

Question Number : 81 Question Id : 68634018615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is correct sequence for steps involved in the process of chlorination of wells?

A. Dissolve bleaching powder in water

B. Put chlorine solution in well

C. Find out the amount of water in a well

D. Find the amount of beaching power required
E. Then drink the water

Choose the correct answer from the options given below :

1.C,D,A,B,E
2.C,D,B.A.E
3:A,D,CB,E
4.A.C.D.B.E

Options :

68634073521. 1

68634073522. 2

68634073523. 3
68634073524. 4

Question Number : 81 Question Id : 68634018615 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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42 fu U fashedl § 9§ &l IR D1 99 BifoIg:
1.C,D.A.B.E

2.C.D.B.A.E

3.A.D.C.B.E

4.A.C.D.B.E

Options :

68634073521. 1
68634073522.2
68634073523. 3
68634073524. 4

Question Number : 82 Question Id : 68634018616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following diseases are transmitted by mosquito?

A. Yellow fever

B. Q fever

C. Chikungunya

D. Relapsing fever

E. Japanese encephalitis
F. Sleeping sickness

Choose the correct answer from the options given below :

1.LA_.C&E
2.B,C&E
3, D,E&F
4.A.B.C&F

Options :

68634073525. 1

68634073526. 2

68634073527. 3
68634073528. 4



Question Number : 82 Question Id : 68634018616 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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E. STUF ufRitsangfed
F. Sehifd faaa
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Options :

68634073525 1
68634073526. 2
68634073527. 3
68634073528. 4

Question Number : 83 Question Id : 68634018617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the correct steps to calculate the Human Development Index?

A. Creating the dimension indices

B. Calculate the prevalence of disease

C. Aggregating the sub indices to produce the Human Development Index.
D. From disease prevalence. Human Development Index can be calculated.

Choose the correct answer from the options given below :
1.Aand D
2.Aand B
3.Aand C

4.Band D

Options :
68634073529. 1



68634073530. 2
68634073531. 3
68634073532. 4

Question Number : 83 Question Id : 68634018617 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1LASRD
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Options :

68634073529. 1
68634073530. 2
68634073531. 3
68634073532. 4

Question Number : 84 Question Id : 68634018618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which are the examples of primordial prevention?
A. Changing lifestyles to prevent disease
B. Hypertension treatment
C. Screening of cervical cancer
D. Health Education
Choose the correct answer form the options given below :
1.B&C
2A&C
3.A&D
4.B&D

Options :



68634073533. 1
68634073534.2
68634073535. 3
68634073536. 4

Question Number : 84 Question Id : 68634018618 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634073533. 1
68634073534. 2
68634073535. 3
68634073536. 4

Question Number : 85 Question Id : 68634018619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the correct sequence of the four stages of malarial parasite in the body of mosquito?
A. Ookinete
B. Zygote
C. Oocyst
D. Sporozoite
Choose the correct answer form the options given below :
LBAIDSC
2.A,B,C,D
3:A;:B:D;C

4.B.A.C.D



Options :

68634073537. 1
68634073538. 2
68634073539. 3
68634073540. 4

Question Number : 85 Question Id : 68634018619 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafafad & 3 o 91 TSR § T wRelidl $1 IR a1 o1 98t o 32

A. TO-gH (S3lfdpHie)
B. g (S1E7IC)
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413 fau 7 fasedi § § 91 IR &1 994 BIfort:

LB AT E
2.A.B.C.D
3.A.B.D.C
4.B.A.C.D

Options :

68634073537. 1

68634073538. 2

68634073539. 3
68634073540. 4

Question Number : 86 Question Id : 68634018620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Following are the steps involved in Planning. select the correct sequence :

A. Establishment of objectives
B. Assessment of resources

C. Analysis of health situation
D. Prepare alternate plans

Choose the correct answer from the options given below :

EAB CD
2.ByA;C;D
3.C,A.B.D
4.C.,B.D.A

Options :

68634073541. 1

68634073542. 2

68634073543. 3
68634073544. 4

Question Number : 86 Question Id : 68634018620 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oM & Fafafea ug R U €1 379 98t 1 &1 907 Bifog
A. 3eX01 B RITGT
B. G181 &1 e
C. Warey fRfg &1 faweyo
D. 35 P TIoHT JaR HAT
i feu U faseal & 9 98! SR D1 954 BIfIT:
1.A.B.C.D
2.B,A.C,D
3.C.A.B.D
4.C.B.D.A
Options :
68634073541. 1
68634073542. 2

68634073543. 3
68634073544. 4

Question Number : 87 Question Id : 68634018621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Examples of non-communicable diseases are -

A. HIV/AIDS
B.TB

C. Cancer

D. Hypertension
E. Malaria

Choose the correct answer from the options given below :
1.A&E only
2.B & D only
3.C & Donly
4.B & C only

Options :

68634073545. 1
68634073546. 2
68634073547. 3
68634073548. 4

Question Number : 87 Question Id : 68634018621 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRRt i & IR0 -
A. HIV/AIDS
B.TB
C. HW
D. 3H &9
E. Halfan

4 feu U fowedi & 9 96t SW @1 997 I
1.%ad A 3R E
2. %dd B 3R D
3.%9d C AR D
4. %aaB AR C

Options :

68634073545. 1
68634073546. 2
68634073547. 3
68634073548. 4



Question Number : 88 Question Id : 68634018622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'

' are the examples of Protozoan diseases.

A. Typhoid & Paratyphoid fever
B. Amoebiasis

C. Weil's disease

D. Giardiasis

E. Polio

Choose the correct answer from the options given below :

1.B & E only
2. A& C only
3.B&Donly
4. A& Eonly

Options :

68634073549. 1

68634073550. 2

68634073551. 3
68634073552. 4

Question Number : 88 Question Id : 68634018622 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSI & R G et 71 & IeTERI &-
A TEPIES 3R REEPES §ER

B. HIfSUR™
C. a3

D. fensiufa
E. diferat

+2 fau g fawedt & F €t S &1 9uF P
1.%ad B 3R E
2. Pad AR C
3. $ad B AR D
4.%ad A ARE

Options :
68634073549. 1



68634073550. 2
68634073551. 3
68634073552 4

Question Number : 89 Question Id : 68634018623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Resp Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not a zoonotic disease?

A. Rabies

B. Anthrax

C. Malaria

D. Brucellosis
E. Tuberculosis

Choose the correct answer form the option given below :

1.AC&E
2.C&E
3.B&D
4.B.C&D

Options :

68634073553. 1

68634073554. 2

68634073555. 3
68634073556. 4

Question Number : 89 Question Id : 68634018623 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafafaa & Yo wite=a I § -
At

e feg e faweal & 9 el SR @1 90 S
1.$ad A, C 3R E
2.%ad C ARE
3.%ad B AR D
4.%adB.C 3RS D

Options :

68634073553. 1
68634073554. 2
68634073555. 3
68634073556. 4

Question Number : 90 Question Id : 68634018624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The curative component of 'Integrated Management of Neonatal and Childness Illness' (IMNCTI) includes
management of :

A. Malaria

B. Measles

C. Diarrhoea

D. Breast feeding
E. Immunisation

Choose the correct answer from the options given below :

1.A.B & Conly
2.A.D & E only
3.B.D & E only
4.C.D & E only

Options :

68634073557. 1

68634073558. 2

68634073559. 3
68634073560. 4



Question Number : 90 Question Id : 68634018624 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FafafEa & 9 fe1 ve=A Taigd Faurd 6§19 7 YEYE & STIRIAD 9] § aiferd g2

A, TaRar

B. G

C. IR (&%)
D. &H9H

E. ufaReon

A1 fag g faweal # @ el SR @1 90 ST
1.$AAA. B IR C
2. $aAA. D IRE
3. %94 B. D 3RE
4.%ad C.D ARE

Options :

68634073557. 1
68634073558. 2
68634073559. 3
68634073560. 4

Question Number : 91 Question Id : 68634018625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following colour code is used for the triage in an Emergency.

A.Red

B. Black

C. Magenta
D. Green

E. Yellow

Choose the correct answer from the option given below :

1. A.B. and C only

2.B.Cand D only

3. A.Band E Only

4. A.B and D only

Options :
68634073561. 1



68634073562. 2
68634073563. 3
68634073564. 4

Question Number : 91 Question Id : 68634018625 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS H& H Fafafad & J 9 31518 &1 3 (triage) WA foar Srar 82

A TE
B. Pral
C. Holel

D.&XI
E. dia

+4 fgu e fawedi & @ w6t SWR @1 997 I
1.$AAA, B IR C
2. $TAB, C 3R D
3. 397 A, B 3RE
4.%adA. B3R D

Options :

68634073561. 1
68634073562. 2
68634073563. 3
68634073564. 4

Question Number : 92 Question Id : 68634018626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following legislations is not directly applicable to health care organisations ?
A. Drugs and Cosmetics Act
B. Narcotic Drugs and Psychotropic Substances Act.
C. Dowry Prohibition Act, 1961
D. Life Insurance Corporation Act. 1956
Choose the correct answer from the options given below :
1.C&D
2.A&B
3.A&D

4B&D



Options :

68634073565. 1
68634073566. 2
68634073567. 3
68634073568. 4

Question Number : 92 Question Id : 68634018626 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafifad & 9 o1 9 S W 97167 & i yde &9 3 9] 78 aidl 82

A. 3NN 3R Gred wareA iffam
B. ATee yard 3R =i gerd aifafras
C. govl [Fuy fIFTH 1961

D. Sita- &1 A ifaf=ad 1056

=it e g faepedl # & Wt IR o1 94 BIfe:
1.%ad C 3R D
2. Pad A RB
3. %94 A IR D
4.%aaB R D

Options :

68634073565. 1
68634073566. 2
68634073567. 3
68634073568. 4

Question Number : 93 Question Id : 68634018627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following are the part of 'Human resources' in a Hospital?

A. Doctors

B. Nurses

C. Health Secretary of State
D. Pharmacist

Choose the correct answer form the options given below :
1. A& B only
2. C only
3.A.B.Donly
4.B & D only

Options :

68634073569. 1
68634073570. 2
68634073571. 3
68634073572. 4

Question Number : 93 Question Id : 68634018627 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafifad § 3 &1 (1) Sgdra & HHa Sy ST HE g 2

A Ffeds @Eley)
B. T

C. o9 1 WA Fiag
D. BHIRRE

e fqu e faweal & 9 wet SR @1 790 DI
1.$dd A R B
2. P C
3.Had A. B IR D
4. %ad B AR D

Options :

68634073569. 1
68634073570. 2
68634073571. 3
68634073572. 4

Question Number : 94 Question Id : 68634018628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A |Epilepsy 1. | Ophthalmologist|
B. | Cataract II. | Dermatologist
C. | Hemnia III. | Neurologist
D. | Psoriasis IV. | General Surgeon|

Choose the correct answer from the options given below:
1. A-II. B-III, C-IV, D-1
2. A-IIL. B-II. C-1. D-IV
3. A-IV. B-IIL. C-II. D-1
4. A-IIL. B-1. C-IV. D-II

Options :

68634073573. 1
68634073574.2
68634073575. 3
68634073576. 4

Question Number : 94 Question Id : 68634018628 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it 1 91 gl 11 | fieH ifee
A1 A1

A, [FERe (e L ieEmire
B. [Aifqaifeg (@eRrde) | 1L [sHcaifRe

C. g 111 [RRIGISE
D. [GRENg V. [gmE=g 9o
Faferad fawedl & 9 98t SR 1 98 Hifee -

1. A-IL. B-IIL. C-IV. D-1
2. A-IIIL B-II. C-1. D-IV
3. A-IV. B-IIL. C-II. D-1
4. A-III. B-1. C-IV. D-II

Options :

68634073573. 1

68634073574. 2

68634073575. 3
68634073576. 4



Question Number : 95 Question Id : 68634018629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A. | Under weight I. |BMI1851t025
B. | Over Weight II. | BMI between 25 to 30
C. | Normal Weight in Adults | III. | BMI above 30
D. | Obesity IV. | BMI Less than 18.5

Choose the correct answer from the options given below:
1. A-IIL. B-II. C-L. D-IV
2. A-IV. B-II. C-I. D-III
3. A-L. B-IV. C-IL. D-IIT
4. A-IL. B-IIL. C-IV. D-I

Options :

68634073577. 1
68634073578. 2
68634073579. 3
68634073580. 4

Question Number : 95 Question Id : 68634018629 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 191 Gl 11§ e Hifog
A1 Cein

[PaTsH A @isRde) | L [BMI1ssd2s
38 go ard (3faR 9o) | 11 |25 I 30 & &g BMI
[G0%®1 1 g YR 111 | 30 § $WR BMI
. [Ater V. [ 185 S HH BMI

fafiRad fomeal & I T8t SR &1 90 Piforg :

1. A-III, B-II. C-I. D-IV

olo|w|s

2. A-IV, B-II. C-I. D-III
3. A-L. B-IV. C-II. D-III
4. A-II. B-III. C-IV. D-I
Options :
68634073577. 1

68634073578. 2
68634073579. 3



68634073580. 4

Question Number : 96 Question Id : 68634018630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A. | Human Anatomical waste 1. |Blue
[Waste Sharps .
B. incinding Mefala II. | Yellow
C. | Contaminated Waste III. | Red
D. | Glass ware IV. | White

Choose the correct answer from the options given below:

1. A-II. B-IV. C-III, D-I
2. A-L. B-IL. C-III. D-IV
3. A-IV. B-II. C-III. D-I
4. A-IIL. B-IV. C-1. D-II

Options :

68634073581. 1

68634073582. 2

68634073583. 3
68634073584. 4

Question Number : 96 Question Id : 68634018630 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it 1 91 gl 11§ e Difee

A1 T 1
A [ IRR & 3ulRy | 1 [Hien
B. [u1d Sfed i ®v1| 1. [die
C. [dgiva 3oy 111 [ara
D. [®ld &1 gHE V. Jaa
Fafaad fasedi & 9 981 SR @1 994 DI :

1. A-IL. B-IV. C-III. D-I
2. A-I. B-IL. C-IIL. D-IV
3. A-IV. B-II. C-III. D-I
4. A-III. B-IV. C-1. D-II

Options :



68634073581 1
68634073582. 2
68634073583. 3
68634073584. 4

Question Number : 97 Question Id : 68634018631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II
A | Vitamin C 1. |Beriberi
B. | Niacin II. | Scurvy
C. | Vitamin By III. | Pernicious Anemia
D. | Vitamin By, IV. | Pellagra

Choose the correct answer from the options given below:

1. A-II. B-L. C-III. D-IV
2. A-II. B-IV. C-I. D-III
3. A-IIL. B-II. C-I, D-IV
4. A-I. B-IL. C-III. D-IV

Options :

68634073585. 1

68634073586. 2

68634073587. 3
68634073588. 4

Question Number : 97 Question Id : 68634018631 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 191 Gl 11 § e Difeg

A1 T 1
fqe1®H ¢ L a8
EEIEE 1. Gpdl
faerim B, | [oeifRm wiftmn @i eRe tadeaan
faera B, |1V [Gamn

frafaiad fawedl # 3 9el SR &1 98- DI -

1. A-II. B-L. C-III. D-IV

=) Kol I kg

2. A-II. B-IV. C-I. D-III
3. AL B-II. C-I. D-IV
4. A-L. B-II. C-III. D-IV

Options :

68634073585. 1
68634073586. 2
68634073587. 3
68634073588. 4

Question Number : 98 Question Id : 68634018632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
IDA scudder I. |Aster DM Healthcare
Azad Moopen II. | Medanta Medicity
Devi Shetty III. | CMC Vellore
Naresh Trehan | IV. | Narayana Health

o|o|w|»>

Choose the correct answer from the options given below:

1. A-IV. B-IIL. C-II. D-I
2. A-II. B-L. C-III. D-IV
3. A-IIIL B-II. C-I. D-IV
4. A-III. B-I. C-IV. D-II

Options :

68634073589. 1

68634073590. 2

68634073591. 3
68634073592. 4



Question Number : 98 Question Id : 68634018632 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it 1 1 g4l 11§ feH ifee

T 1 T
DATPR | I [ DM ™ B
oG 7uA | 11 [Herar Afeied
[Gdl Tl 1L [cMc 3R
R e V. [ARm g

frafafad famedl # 9 el S @1 98- P -

1. A-IV. B-III. C-II. D-I

=l fol ol I

2. A-IL. B-L. C-IIL. D-IV
3. A-IIL B-II. C-1. D-IV
4. A-III. B-1. C-IV. D-II

Options :

68634073589. 1
68634073590. 2
68634073591. 3
68634073592. 4

Question Number : 99 Question Id : 68634018633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |BCG 1. |Hepatitis-B
B. |DPT II. | Haemophilus Influenza
C. |HEPB II1. | Diphtheria
D. |Hib IV.|TB

Choose the correct answer from the options given below:
1. A-II. B-1. C-IV. D-III
2. A-IV. B-II. C-I. D-III
3. A-IV. B-III. C-1. D-II
4. A-IIL B-1. C-II. D-IV
Options :
68634073593. 1

68634073594. 2
68634073595. 3



68634073596. 4

Question Number : 99 Question Id : 68634018633 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 11 G 1 ¥ e Bifog
T 1 T 1
A [BcG I |guerEicaB
B. [DPT 1. [EHifthad g~
c |HEPB 11 | fehiar
D. |Hib V.| TB
fafafad fasedl & 4 981 I &1 984 DIy :

1. A-II. B-I. C-IV. D-III
2. A-IV. B-II. C-I. D-III
3. A-IV. B-III. C-I. D-II
4. A-IIL. B-I. C-II. D-IV

Options :

68634073593. 1

68634073594. 2

68634073595. 3
68634073596. 4

Question Number : 100 Question Id : 68634018634 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
AIIMS, Kalyani I. |Tamil Nadu
ATIMS, Madurai II. |Andhra Pradesh
AIIMS, Gorakhpur | III. | Uttar Pradesh
AIIMS, Mangalgiri | IV. | West Bengal

O|0fw| >

Choose the correct answer from the options given below:
1. A-IL. B-III. C-IV. D-I
2. A-L B-IIL C-IL. D-IV
3. A-IV. B-I. C-III. D-II
4. A-IL. B-IV. C-III. D-I

Options :
68634073597. 1



68634073598. 2
68634073599. 3
68634073600. 4

Question Number : 100 Question Id : 68634018634 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 %1 gt 1 9 feH $ifoe
A1 Coibtl
A |amvs, sl | 1 [afeErg
B [amvs, Ags 1L [ me=
C |amvs, TRER |11 BRuew
D. |AnMs, HTARRT | 1V, [ofgE S

Fafead faeedl & 9 g8t IR &1 954 Bifog :

1. A-II. B-III. C-IV. D-I
2. A-L. B-III. C-II. D-IV
3. A-IV. B-1. C-III. D-II
4. A-II. B-I'V. C-III. D-I

Options :

68634073597 1

68634073598. 2

68634073599. 3
68634073600. 4



